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This question paper is meant for all Regular and Private students. Answer all
five questions. All questions carry equal marks. The blind candidates will be given
60 minutes extra time.
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A man gets three annunl rises in salary. At the end of first year he gets hike of 4%, !-\_?fﬂﬂd
year increase of 6% and in third year an increase of 9%, On his salary given, what 1s the
avernge & increase 7
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“ An incomplete frequency distribution has median = 33.5 and mode = 34. Find the missing

frequencies : &

Marks 0-10 10-20 20-30 3040 40-50 G0-G0 60-70 Total

Frequency 4 16 — —_ . = 6 4 230
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/' Calculate Karl Pearson's Coefficient of Skewneee from following data :
X 23 27 28 28 a0 30 35
Y 18 20 22 27 29 27 28
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Write marginal cost and marginal product of given functions :
TC = 4Q° + 30Q + 600
TP = 2Q% + 10Q* - 1.5Q + 350.
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Demand and supply curves of sugar are estimated as D = 1.6 +0.6p and S = 0.7p + 04. Find
the equilibrium price and quantity sold when :

(i) A tax of Re. 1 is imposed.

(ii) A subsidy of three rupees is given.
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If the demand function p = (4 - 510, for whnt yalue of 's" the slaaticity of demand will be unity?
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Find the profit maximizing outpul for the frm hoving cost fu;u:u-m
C = 243rc-32%« 247
P = 15-Gr.
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Caleulate the regression line of performance ratings on Bxperience

Experience (X! 14 12 13 - 4 J 10 o 12
Performance Rating (Y) &7 B8 g9 GH 78 a0 75 a3
T OR
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The equation of two regression lines are :
3X + 2Y = 26
6X + ¥ = 31
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Find the mean of the two ssriez and value of coefBcient of correlation,

5. P mrelt w7 e st Brdams, R 1994 ¥ amam ax = i
From I.]‘_u:- I'-:niluwlmg average price of the groups of commodities given in rupees per unit, find
the chain bage index numbers with 1994 as the base year :

Group 1994 1995 1996 1997
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Write short note on Importances of Index Nuriber.
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